Example 2a (meeting interaction). Jegor’s knee. (IMM1706, 2:38-3:01)

01 Risto: (0.8) joo ja Jegor, (0.5) huomenta kaikille,
yeah and Jegor good morning to all

02 (0.5) Jegorilla (0.5) on menny polvi rikki;
Jegor has broken his knee

03 (0.2) eilen illalla ja se on ollu viime yon

yesterday evening and he has been last night

04 sairaalassa, .hhhhhhhh hhhhhh sairaalassa
in the hospital in the hospital
05 ja tota (1.4) hengissd (0.4) kuitenkin (0.3)
and er alive anyway
06 mutta varmaan buranalla menee nyt pitkan #aikaa

but probably goes with ((analgesic brand)) now for a long time

07 ja#; .hhhhhhhh ja sano et h&n ei tan&da (0.2) tanaa
and and said that he isn’t today today
08 h&n nukkuu ku han on viime ydn ollu siella

he sleeps because he has been last night in the

09 (0.2) hospitsissa
in the hospital ((spoken language variant))



